

$$t_1 = 4$$

$$t_4 = 41 \rightarrow t_4 = t_1 + 3d \rightarrow 41 = 4 + 3d \rightarrow 3d = 37$$

$$301 = V_n + 3r \rightarrow 17d = V_n \rightarrow n = 17d$$

$$d = 7$$

$$t_n = V_n + 3r$$

$$t_1 = 101$$

$$101, 104, 107, \dots, 997 \Rightarrow \frac{997 - 101}{3} + 1 = 129$$

$$a_1 + nd + a_1 + (n+1)d + a_1 + (n+2)d = 3a_1 + (3n+3)d = 3a_1 + (3n+3)d$$

$$a_{n+1} + a_{n+2} + a_{n+3} = -2n + 17$$

$$a_1 + (n+1)d = a_1 + d + nd \rightarrow nd = -2n \rightarrow d = -2$$

$$a_1 = 17$$

$$a_{17} + a_n = a_1 + 16d + a_1 + vd = 2a_1 + 16d = 34 - 32 = 2$$

$$\left. \begin{aligned} t_r &= r-1 = a_1 + rd \\ t_n &= r^{x+1} = a_1 + vd \\ t_{1r} &= r^n = a_1 + rd \end{aligned} \right\} \Rightarrow \begin{aligned} t_r + t_{1r} &= \frac{t_n + t_1}{r} \\ r-1 + r^n &= \frac{r^{x+1} + 1}{r} \end{aligned}$$

$$\Rightarrow r-1 + r^n = r^{x+1} + 1 \rightarrow r^n - r^{x+1} = 2 \rightarrow r^n(1 - r^{x+1-n}) = 2$$

$$\rightarrow r^n + r^n - r^{x+1} = 2 \rightarrow r^n(1 + 1 - r^{x+1-n}) = 2 \rightarrow r^n(2 - r^{x+1-n}) = 2$$

$$\rightarrow r^n(1 - r^{x+1-n}) = 1 \rightarrow r^n = 2 \rightarrow n = r$$

$$a_{17} - a_{10} = (a_1 + 16d) - (a_1 + 9d) = 7d = 2 \rightarrow d = \frac{2}{7}$$

$$a_1 + a_{17} = a_1 + 16d + a_1 + 9d = 2a_1 + 25d = 2a_1 + 25 \cdot \frac{2}{7} = 2a_1 + \frac{50}{7}$$

$$2a_1 = -\frac{50}{7} \rightarrow a_1 = -\frac{25}{7}$$

$$a_{11} = a_1 + 10d = -\frac{25}{7} + 10 \cdot \frac{2}{7} = \frac{15}{7}$$

$$S_1 = \Delta r \frac{a_1 + a_2}{r} = \Delta(a_1 + rd) \quad \left\{ \begin{array}{l} S_1 = \frac{1}{r} S_2 \\ \times (a_1 + rd) = \frac{\Delta}{r} (a_1 + rd) \\ a_1 + rd = \frac{1}{r} (a_1 + rd) \times r \\ r a_1 + r d = a_1 + rd \rightarrow r a_1 = d \Rightarrow \\ a_r = a_1 + d = r a_1 \end{array} \right.$$

سوال ٦ ده ٥ ٥ ٥ ٥ ٥ ده

$$t_n = t_{n-1} + t_{1d} \rightarrow t_n - rd + 1d \quad \left\{ \begin{array}{l} t_1 = t_1 + 1d \Rightarrow t_2 = t_1 + rd \\ t_r = 1d \rightarrow t_r = t_1 + rd \\ 1d = t_1 + 1d \quad t_1 = d \end{array} \right. \quad \left\{ \begin{array}{l} rd = 1d \\ d = a \end{array} \right.$$

$$t_q + t_a = (t_q + t_a) (t_q - t_a)$$

$$\frac{t_q + t_a}{z_v} = \frac{1000}{z_1 + rd} = \frac{1000}{r_d} = r_0$$

$$t_1 = r(1 - \sqrt{r}) = r - r\sqrt{r}$$

$$t_{1f} = r + \sqrt{r}$$

$$t_{1f} = t_1 + 1d \rightarrow r + \sqrt{r} = r - r\sqrt{r} + 1d \rightarrow 1d = r\sqrt{r}$$

$$d = \sqrt{r}$$

$$t_1 = r, \quad t_n = r$$

$$d = \frac{t_n - t_1}{(n-1)+1} = \frac{r - r}{n-1} = \frac{r - r}{n-1} = \frac{r - r}{n-1}$$

$$\frac{r - r}{n-1} = 9 \rightarrow r - r = 9(n-1)$$

$$4n = 1n \Rightarrow n = r$$

$$t_1 = r, \quad t_{n+1} = r$$

$$t_{n+1} = t_1 + (n+1)d$$

$$nd = 9 = nd = \frac{r - r}{n-1} = 9$$

$$a_n + a_{n+f} = a_r + a_{1d} \Rightarrow \text{بعضی چیز}$$

$$n + n + f = r_0$$

$$r_n + f = r_0$$

$$r_n = 17 \rightarrow n = 17$$

$$t_n = a_1 + rd = r(a_1 + rd)$$

$$a_1 + rd = r a_1 + rd \rightarrow r a_1 = -rd$$

$$a_1 = -d \rightarrow a_r = a_1 + d = 0$$